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QUESTION 1

In a Fiber Channel configuration, the host\\'s HBA is referred to as the
as the

A. Target, initiator
B. Primary, secondary
C. Initiator, target
D. Secondary, primary

Correct Answer: C

QUESTION 2

Which of these attributes can affect LUN I/) alignment?

A. The same LUN is present in two igroups with differing ALUA states.

B. The starting offset of the first file system block on the host.
C. The LUN is a boot LUN.
D. The LUN is part of a logical volume.

Correct Answer: B

QUESTION 3

If the security style is set to UNIX, CIFS client file access is determined by

A.NT ACLs

B. the last client to set permissions

C. the mapped UNIX UID/GID of the CIFS client and the UNIX file permissions
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, and the storage system\\'s HBA to

D. This is not allowed: A CIFS client cannot access files in a path set to a security style of UNIX

Correct Answer: C

QUESTION 4

Which command do you use to see the rate of change between two successive Snapshot copies in a flexible volume in

Data ONTAP?

A. snap diff
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B. snap calculate
C. snap delta
D. snap space

Correct Answer: C

QUESTION 5

Which statement best describes the output of this command? sysstat -s 5

A. Display the default output every five seconds and terminate after five counts.

B. Display extended output every five seconds and print a summary after five counts.
C. Display extended output every five seconds and print a summary upon termination.
D. Display the default output every five seconds and print a summary upon termination.

Correct Answer: D
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